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Describe line and staff organization with their

merits and demerits.

139 U4 1% 64 $I aui4 I¥D U1 ¢q
AT B AT BN |

8. Define Entrepreneur. What are characteristics of an

entrepreneur? Explain it. g

Serfl &) gRuTYT 9 | Serfl &) fagivand @
2 aufd &Y |

OR (3121an)

What is specialized farming? Write advantages and
disadvantages of specialized farming.

faftre oy @1 27 fafdre oY & @™ 3k
gItET fafeayg |

9. Define leadership. Write in brief on "Qualities of
Leadership" 8
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Time : 3Hrs. Sem. VI /Agr.
P.S. & E.

Full Marks : 80
Pass Marks : 26
Answer all 20 questions from Group A, each question

carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |
Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3121an)
Write a short note on "Small Farmer's Development

Agency".

oY dub fadr o=l W wfera fewofi
ferfeag |

5. Write advantage of "Mixed Farming".

“fif¥a e & amm &t fod | 4
OR (3121a1)
Write short notes on "Seed Act".
“fIe gae” W Hitra fewefl fod |
6. Write in brief about the "Needs of leadership".
4
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(¥) ©RUAAR B T A H

(3) Suygaa &+

The three R's of credits are:
(a) Repayment capacity

(b) Risk bearing ability

(c) Return

(d) All the above

FoT & 9 "IR" 28—
(o1) T g

(@) wRew wga—wfaa
(\) urftqar

(?) Swgaa wh

Under long term credit, loans are given for
the period of :

(a) 3 to 4 years

(b) 1-2 years

(c) 5-30 years

(d) None of these

P.T.O
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GROUPB

Answer all Five Questions.

Il uig gl & SR o

4x5=20

2. Write short note on "Dry farming".
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(vi)
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The definition of entrepreneurship based
"classical thoughts" is given by:

(a) J. Schumpter

(b) Adam smith

(c) Both (a) and (b)

(d) None of these

a9 faarR” wX IrenRa SeEfar a6
gRwTeT &) T

(31) <t gfrex gwT

(d) vsH o1 g1

(&) <=1 (@) SR (@)

(@) 379 @ B3 =T

Secondary market held in cities:
(a) Daily

(b) Monthly

(c) Weekly

(d) Yearly
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Importance of small scale industries is due to:
(a) Easy procedure

(b) Balanced Growth

(c) Low capital investment

(d) All of the above

fra dRUT § g S BT AT 27
(31) g B gl

(@) agfaa faer

(|) sreu gsft fafaars=

(?) Swgaa w

Farm management is the source of
organization and management of the farm
enterprises for the purpose of securing the
greatest continuous profit" this definition is
given by-

(a) Tylor

(b) Boss

(c) Warren

(d) All of the above
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The payment made for the services of the
Agricultural labour is known as:

(a) Farm wages

(b) Industrial wages

(c) Both (a) and (b)

(d) None of these

PN AvIgY &1 Ay o ard aiRsifie
$I BT oTdT 2 |

(31) vara wegd

@) sftenfre degh

(@) <= (31) MR@E)

() 39 9 BIg 78

Under working capital comes:
(a) Seed

(b) Upkeeps of bullocks

(c) Manure

(d) All of the above
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10.

11.

Aqcd @1 gRATST < | "qed & PN " Bl
ey #§ foad |

OR(37214T)

Describe briefly on " Principle of management"
g9y & Rigid &1 wfdra quia v |

Explain in brief about methods of calculating

depreciation.
8

Y N TVET @l faffl & Wdy ¥ w8y
# quiq @ |

OR (3121a1)

What are three R's of credit? Analyse them.

IMRG & 9 MR” T & ? SADT faTAToT

DIfoIY |

Write on essay on the "importance of small scale
industries". 8
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Aqcd B GRETST < | "iged @ TN 7 Bl
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Describe briefly on " Principle of management"
ydg & Rigid &1 wfdra quia o |

Explain in brief about methods of calculating

depreciation.
8

I g UET &l At & deg A d&u
A quiq @ |

OR (312141)

What are three R's of credit? Analyse them.

IMRG & 9 "IIR” T & ? SABT faTaqor

DI |

Write on essay on the "importance of small scale
industries". 8
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